

#### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 4, 2020

Progress Estimate Number	Contract ID	191018-G05	Pay Period Start	April 16, 2020	Original Contract Amou	ınt \$10,765,167.61
5	Prime Contractor	Blevins Asphalt Construction Company	Pay Period End	May 1, 2020	Net Change Order Amount Current Contract Amou	\$44,603.84 <b>nt</b> \$10,809,771.45
A						D. H

Approval Date		By User
May 4, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by	LANEK1
May 4, 2020	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	LANEK1
May 5, 2020	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2020	November 1, 2020		14.86%

Co	ntract Informational	Dates	Milestones						
Date Description	Original Completion Date	Current Completion Date	Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days		
Acceptance Date			Milestone - Calendar Time J7I3083	November 2, 2020	November 2, 2020	175			
Awarded Date	November 6, 2019	November 6, 2019							
Letting Date	October 18, 2019	October 18, 2019							
Notice to Proceed Date	December 2, 2019	December 2, 2019							
Open to Traffic Date									
Work Began Date	March 2, 2020	March 2, 2020							

Contract Total Pay	For Estimate No. 5				
		This Estimate	Previous	To Date	
191018-G05					
	Total Posted Items Pay	\$270,898.55	\$1,334,949.92	\$1,605,848.47	
	Gross Item Adjustments	(\$150,726.26)	\$328,191.05	\$177,464.79	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$1,663,140.97	\$1,783,313.26	
<b>Contract Total Pay</b>	able This Estimate:	\$120,172.29			

### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J7I3083	0300	2153000	SHAPING SLOPES, CLASS III	100F	\$915.000	26.4	\$24,156.00		
	0310	6061060	MGS GUARDRAIL	LF	\$17.450	7,050	\$123,022.50		
	0320	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	LF	\$21.050	1,700	\$35,785.00		
	0340	6061067	MGS DOUBLE FACED GUARDRAIL	LF	\$26.350	625	\$16,468.75		
	0350	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	EA	\$2,450.000	13	\$31,850.00		
	0360	6061080	MGS END ANCHOR	EA	\$921.050	6	\$5,526.30		
	0370	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$2,435.000	14	\$34,090.00		
Project J7I30	Project J7l3083 - Total								
Overall - Total	verall - Total								

#### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

**Line Item Adjustments This Estimate** 

Revision 4/1/2020 Page 1 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 4, 2020

Progress Estimate Number	Contract ID	191018-G05	Pay Period Start	April 16, 2020	Original Contract Amount	\$10,765,167.61
5	Prime Contractor	Blevins Asphalt Construction Company	Pay Period End	May 1, 2020	Net Change Order Amount	\$44,603.84
		. ,			<b>Current Contract Amount</b>	\$10,809,771.45

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7I3083	0310	MGS GUARDRAIL	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$72,578.31)
	0320	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$20,779.20)
	0340	MGS DOUBLE FACED GUARDRAIL	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$4,695.00)
	0340	MGS DOUBLE FACED GUARDRAIL	Overrun			-125	\$26.35	(\$3,293.75)
	0340	MGS DOUBLE FACED GUARDRAIL	Overrun			-200	\$26.35	(\$5,270.00)
	0350	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$19,890.00)
	0360	MGS END ANCHOR	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$2,982.00)
	0370	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$21,238.00)
Total								(\$150,726.26)

Revision 4/1/2020 Page 2 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Col	ntract Project Information	on
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J7I3083	I 49-2(405)	Coldmill and resurface	I-49	JASPER	from s/o Route 160 to I-44		
Totals by	Job Numbe	rs					
J7I3083		d Item Pay Item Adjustm		s Item Pay	This Estimate \$270,898.55 (\$150,726.26) <b>\$120,172.29</b>	Previous \$1,334,949.92 \$328,191.05 \$1,663,140.97	To Date \$1,605,848.47 \$177,464.79 <b>\$1,783,313.26</b>
Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments				i	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00

Revision 4/1/2020 Page 3 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 191018-G05, Contract Project J7I3083, Project Item Line Number 0340, Contract Line Item Number 0340, Item 6061067, Minor Item.	Awaiting change order approval	haskej1	Acknowledged

Revision 4/1/2020 Page 4 of 9



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values an	re based on Report Gener	rated date and can differ from the posted	amount at the time the Estimate was Generated.

	uantities	anu valu	ics are	Daseu on i	Report Generated date and can differ from the posted an		ine the Lst	illate was G	SHETALEC	٠.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
91018-G05	J7I3083	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS		\$101,000.00	\$101,000.00
		0001	0020	2129909	MISC.SHOULDER GRADING	17.50	0.00	17.50	STA	0.00	\$1,605.00	\$0.00
		0001	0030	3049909	MISC.PERMANENT AGGREGATE EDGE TREATMENT	3,432.00	-3,204.00	228.00	STA	0.00	\$30.82	\$0.00
		0001	0040	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	387.30	0.00	387.30	TONS	0.00	\$105.00	\$0.00
		0001	0050	4019901	MISC.INFRARED SCANNING	1.00	0.00	1.00	LS	0.00	\$3,500.00	\$0.00
		0001	0060	4019901	MISC.INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	0.00	\$10,000.00	\$0.00
		0001	0070	4019910	MISC.MODIFIED BITUMINOUS PAVEMENT MIXTURE PG64-22 (BP-2)	20,854.20	-4,170.00	16,684.20	TONS	0.00	\$48.92	\$0.00
		0001	0080	4030116	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125B MIX)	115,385.00	0.00	115,385.00	TONS	0.00	\$50.81	\$0.00
		0001	0090	4071005	TACK COAT	183,758.00	-18,000.00	165,758.00	GAL	0.00	\$1.86	\$0.00
		0001	0100	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,620.00	\$0.00
		0001	0110	6161005	CONSTRUCTION SIGNS	3,163.00	0.00	3,163.00	SQFT	1,088.00	\$6.05	\$6,582.40
		0001	0120	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	0.00	\$65.10	\$0.00
		0001	0130	6161009	FLAG ASSEMBLY	8.00	0.00	8.00	EA	8.00	\$20.05	\$160.40
		0001	0140	6161025	CHANNELIZER (TRIM LINE)	450.00	0.00	450.00	EA	200.00	\$22.05	\$4,410.00
		0001	0150	6161040	FLASHING ARROW PANEL	1.00	5.00	6.00	EA	2.00	\$2,002.00	\$4,004.00
		0001	0160	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$7,710.00	\$30,840.00
		0001	0170	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$2,105.00	\$8,420.00
		0001	0180	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$230,000.00	\$115,000.00
		0001	0190	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	80.00	0.00	80.00	LF	0.00	\$25.05	\$0.00
		0001	0200	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	6.00	0.00	6.00	EA	0.00	\$250.25	\$0.00
		0001	0210	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	452,875.00	0.00	452,875.00	LF	0.00	\$0.18	\$0.00
		0001	0220	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	370,767.00	0.00	370,767.00	LF	0.00	\$0.18	\$0.00
		0001	0230	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	34,552.00	0.00	34,552.00	LF	0.00	\$0.40	\$0.00
		0001	0240	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	81.00	0.00	81.00	LF	0.00	\$5.00	\$0.00
		0001	0250	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$0.01	\$0.00
		0001	0260	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	1,145,503.00	353,208.00	1,498,711.00	SQYD	0.00	\$0.79	\$0.00
		0001	0270	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	44,257.00	-44,257.00	0.00	SQYD	0.00	\$2.40	\$0.00
		0001	0280	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	6,406.80	0.00	6,406.80	STA	0.00	\$12.13	\$0.00
		0001	0290	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$4,000.00	\$0.00
		0010	0300	2153000	SHAPING SLOPES, CLASS III	157.00	0.00	157.00	100F	145.50	\$915.00	\$133,132.50
		0010	0310	6061060	MGS GUARDRAIL	33,625.00	0.00	33,625.00	LF	32,475.00	\$17.45	\$566,688.75
		0010	0320	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	16,351.00	0.00	16,351.00	LF	14,337.50	\$21.05	\$301,804.38
		0010	0330	6061065	MGS GUARDRAIL, 6 FT. POSTS, 1 FT 6.75 IN. SPACING	400.00	0.00	400.00	LF	0.00	\$40.60	\$0.00
		0010	0340	6061067	MGS DOUBLE FACED GUARDRAIL	300.00	0.00	300.00	LF	625.00	\$26.35	\$7,905.00
		0010	0350	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	97.00	0.00	97.00	EA	90.00	\$2,450.00	\$220,500.00
		0010	0360	6061080	MGS END ANCHOR	40.00	0.00	40.00	EA	34.00	\$921.05	\$31,315.70
		0010	0370	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	103.00	0.00	103.00	EA	96.00	\$2,435.00	\$233,760.00
		0010	0380	6063017	TYPE C CRASHWORTHY END TERMINAL	1.00	0.00	1.00	EA	0.00	\$21,750.00	\$0.00
		0010	0390	6173100	CONCRETE TRAFFIC BARRIER, TYPE D	340.00	0.00	340.00	LF	0.00	\$125.15	\$0.00
		0001	5001	1099902	MISC.Trucks for Additional Millings	0.00	2,200.00	2,200.00	EA	0.00	\$90.00	\$0.00

Revision 4/1/2020 Page 5 of 9



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J7I3083

Line lumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance		Offset/ istance	Comments
0300	2153000	SHAPING SLOPES, CLASS III	4/16/20	4/17/20	4.40	100F	Installed the Shaping Slopes Class III at Exit #51 at the Fairview overhead on the NW and NE sides.	Fairview NW		Fairview NE		
			4/17/20	4/20/20	2.50	100F	Installed the Shaping Slopes Class III at Exit #51 the Fairview overhead the SW side	Fairview SW		Fairview SW		
			4/20/20	4/21/20	3.60	100F	Installed the Shaping Slopes Class III from LM 135.306 to LM 135.356 and at Fairview overhead SE side.	135.206		135.356		
			4/21/20	4/22/20	4.60	100F	Installed the Shaping Slopes Class III from LM 135.52 to	135.52		135.671		
			4/23/20	4/24/20	5.80	100F	LM 135.671 and at Fir Rd, NE side and at Fir Rd. NW side.  Installed the Shaping Slopes Class III from LM 136.241 to LM 136.336 and from LM 137.08 to LM 137.253 and at Fir	136.241		137.253		
			4/28/20	4/20/20	1.10	1005	Rd. the SW side and at Fir Rd. the SE side.  Installed the shaping slopes class III from LM 134.54 to	134.54		134.562		
			4/29/20			100F	LM 134.562 SB.  Installed the shaping slopes class III from LM 134.363 to	134.363		134.41		
			4/30/20				LM 134.41 Installed the Shaping Slopes Class III from LM 134.363 to	134.363		136.573		
			5/1/20				LM 134.41 Right SB and from LM 136.81 to LM 136.573  Installed the Shaping Slopes Class III from LM .323 to	45.986		46.906		
0210	6061060	MGS GUARDRAIL		4/21/20	700.00		LM .415	135.306		135.356		
0310	0001000	WGS GUARDRAIL		4/22/20	712.50		Removed and replaced the MGS guardrail from LM 135.306 to LM 135.356	135.52		135.671		
			4/2 1/20	4/22/20	712.50	L	Removed and replaced the MGS guardrail from LM 135.52 to LM 135.671 and at Fir Rd, NE side and at Fir Rd. NW side.	133.32		133.071		
			4/23/20	4/24/20	437.50	LF	Removed and replaced the MGS guardrail from LM 136.241 to LM 136.336.	136.241		137.253		
			4/28/20	4/29/20	950.00	LF	Removed and replaced the MGS guardrail from LM 136.81 to LM 137.573 (PARTIAL RUN)	136.81		137.573		
			4/29/20	5/1/20	2,000.00	LF	Removed and replaced the MGS guardrail from LM 136.81 to LM 136.573 Left SB and at LM 45.986 to LM 46.906 Left NB.	45.986		136.573		
			4/30/20	5/1/20	1,750.00	LF	Removed and replaced the MGS Guardrail from LM 45.986 to LM 46.906 Left NB and from LM 136.81 to LM 136.573	45.986		136.573		** LM 136.81 to LM 135.573 PARTIAL RUN, TOTAL 380 TO DATE **
			5/1/20	5/4/20	500.00	LF	Mar-Jim was on site to remove and replace the MGS guardrail from LM 44.986 to LM 46.906 Left NB	.323		.415		
0320	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	4/16/20	4/17/20	337.50	LF	Removed and replaced the MGS guardrail 8' posts at Exit #51 at the Fairview overhead on the NW and NE sides.	Fairview NW		Fairview NE		
			4/17/20	4/20/20	200.00	LF	Removed and replaced the MGS guardrail 8' posts at Exit #51 the Fairview overhead the SW side.	Fairview SW		Fairview SW		
			4/20/20	4/21/20	162.50	LF	Removed and replaced the MGS Guardrail 8' posts at Fairview overhead SE side.	Fairview SE		Fairview SE		
			4/21/20	4/22/20	212.50	LF	Removed and replaced the MGS Guardrail 8' posts at Fir Rd, NE side and at Fir Rd. NW side.	Fir Rd.		Fir Rd.NW		
			4/23/20	4/24/20	350.00	LF	Removed and replaced the MGS Guardrail 8' posts from LM 137.08 to LM 137.253 and at Fir Rd. the SW side and at Fir Rd. the SE side.	137.08		137.253		
			5/1/20	5/4/20	437.50	LF	Mar-Jim was on site to remove and replace the MGS	.323		.415		
0340	6061067	MGS DOUBLE FACED GUARDRAIL	4/28/20	4/29/20	125.00	LF	guardrail 8' posts from LM .323 to LM .415  Removed and replaced the MGS double faced guardrail from LM 134.54 to LM 134.562 SB. (125' IS AN OVERRUN FROM PLAN)	134.54		134.562		
			4/29/20	5/1/20	250.00	LF	Removed and replace the Double Faced Guardrail from LM 134.363 to LM 134.41	134.363		134.42		
			4/30/20	5/1/20	250.00	LF	Mar-Jim was on site to remove and replace the Double Faced Guardrail from and from LM 134.363 to LM 134.41 Right SB.	134.363		134.41		
0350 6061	6061068	MGS BRIDGE APP. TRANS SEC (EXT CURB)	4/16/20	4/17/20	2.00	EA	Removed and replaced the MGS Bridge Approach Transition Sections (Extended Curb) at Exit #51 at the Fairview overhead on the NW and NE sides.	Fairview NW		Fairview NE		
			4/17/20	4/20/20	1.00	EA	Removed and replaced the MGS Bridge Approach Transition Section (Extended Curb) at Exit #51 the Fairview overhead the SW side.	Fairview SW		Fairview SW		
			4/20/20	4/21/20	2.00	EA	Removed and replaced the MGS Bridge Approach Transition Sections from LM 135.306 to LM 135.356 and at Fairview overhead SE side.	135.306		135.356		
			4/21/20	4/22/20	3.00	EA	Removed and replaced the MGS Bridge Approach Transition Sections (Extended Curb) from LM 135.52 to LM 135.671 and at Fir Rd, NE side and at Fir Rd. NW side.	135.52		135.671		
			4/23/20	4/24/20	2.00	EA	Removed and replaced the MGS Bridge Approach Transition Sections (Extended Curb) at Fir Rd. the SW side and at Fir Rd. the SE side.	Fir Rd. SW		Fir Rd. SE		
			4/28/20	4/29/20	1.00	EA	Removed and replaced the MGS Bridge Approach Transition Section (Extended Curb) from LM 134.54 to LM 134.562 SB	134.54		134.562		
			4/29/20	5/1/20	1.00	EA	Removed and replace the MGS Bridge Approach Transition Section (Extended Curd) from LM 134.363 to LM 134.41	134.363		134.41		
			4/30/20	5/1/20	1.00	EA	Removed and replaced the MGS Bridge Approach Transition Section (Extended Curb) from LM 134.363 to LM 134.41 Right SB	134.363		134.41		
0360	6061080	MGS END ANCHOR	4/16/20	4/17/20	1.00	EA	Removed and replaced the MGS End Anchor at Exit #51 at the Fairview overhead on the NE side.	Fairview NW		Fairview NE		
			4/21/20	4/22/20	1.00	EA	Removed and replaced the MGS End Anchor at Fir Rd, NE side.	135.52		135.671		
			4/23/20	4/24/20	3.00	EA	Removed and replaced the MGS end anchors from LM 136.241 to LM 136.336 and from LM 137.08 to LM 137.253 and at Fir Rd. the SW side.	136.241		137.253		
			5/1/20	5/4/20	1.00	EA	Removed and replaced the MGS End Anchor from LM .3223 to LM .415	.323		.415		
0370	6063014	TYPE A CRSHWTHY END TERMINAL (MASH)	4/16/20	4/17/20	1.00	EA	Removed and replaced the Type A Crashworthy End Terminal at Exit #51 at the Fairview overhead on the NW side.	Fairview NW		Fairview NE		
			4/17/20	4/20/20	1.00	EA	Removed and replaced the Type A Crashworthy End Terminal (MASH) at Exit #51 the Fairview overhead the SW side.	Fairview SW		Fairview SW		
			4/20/20	4/21/20	2.00	EA	Removed and replaced the Type A Crashworthy End Terminals (MASH) from LM 135.306 to LM 135.356 and at	135.306		135.356		

Revision 4/1/2020 Page 6 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0370	6063014	TYPE A CRSHWTHY END TERMINAL (MASH)					Fairview overhead SE side.					
			4/21/20	4/22/20	2.00	EA	Removed and replaced the Type A Crashworthy End Terminal (MASH) from LM 135.52 to LM 135.671 and at Fir Rd. NW side.	135.52		135.671		
			4/23/20	4/24/20	3.00	EA	Removed and replaced the Type A Crashworthy End Terminals (MASH) from LM 136.241 to LM 136.336 and from LM 137.08 to LM 137.253 and at Fir Rd. the SE side.	136.241		137.253		
			4/28/20	4/29/20	1.00	EA	Removed and replaced the Type A Crashworthy End Terminal (MASH) from LM 134.54 to LM 134.562 SB	134.54		134.562		
			4/29/20	5/1/20	1.00	EA	Removed and replaced the Type A Crashworthy End Terminal (MASH) from LM 134.363 to LM 134.41	134.363		134.41		
			4/30/20	5/1/20	2.00	EA	Removed and replaced the Type A Crashworthy End Terminals (MASH) from LM 134.363 to LM 134.41 Right SB and from LM 136.81 to LM 136.573	134.363		136.573		
			5/1/20	5/4/20	1.00	EA	Removed and replaced the Type A Crashworthy End Terminal (MASH) from LM .323 to LM .415	.323		.415		

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 7 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0150	FLASHING ARROW PANEL	Overrun Overrun		1	Mar 3, 2020	SYSTEM	(\$2,002.00)	
				3	Apr 1, 2020	SYSTEM	\$2,002.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2002.00000 - 2002.00000, 'is applied (if non-zero).
			Overrun - Total				\$0.00	
		Overrun - To	tal				\$0.00	
0150 -	Total						\$0.00	
0310	MGS GUARDRAIL	Construction Stockpile		2	Mar 17, 2020	SYSTEM	\$275,257.09	Payment Estimate Item Adjustment generated Stockpile Transaction
				3	Apr 1, 2020	SYSTEM	(\$84,674.69)	Payment Estimate Item Adjustment generated Stockpile Transaction
				4	Apr 16, 2020	SYSTEM	(\$56,235.32)	Payment Estimate Item Adjustment generated Stockpile Transaction
				5	May 4, 2020	SYSTEM	(\$72,578.31)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$61,768.77	
		Construction Stockpile - Total					\$61,768.77	
0310 -	Total						\$61,768.77	
0320	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile		2	Mar 17, 2020	SYSTEM	\$167,926.50	Payment Estimate Item Adjustment generated Stockpile Transaction
	IN			3	Apr 1, 2020	SYSTEM	(\$38,655.42)	Payment Estimate Item Adjustment generated Stockpile Transaction
				4	Apr 16, 2020	SYSTEM	(\$58,365.11)	Payment Estimate Item Adjustment generated Stockpile Transaction
				5	May 4, 2020	SYSTEM	(\$20,779.20)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$50,126.77	
	Construction Stockpile - Total						\$50,126.77	
0320 -	Total						\$50,126.77	
0330	MGS GUARDRAIL, 6 FT. POSTS, 1 FT 6.75	Construction Stockpile		2	Mar 17, 2020	SYSTEM	\$11,832.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	00		- Total			\$11,832.00		
		Construction	Stockpile - 1	Total			\$11,832.00	
0330 -							\$11,832.00	
0340	MGS DOUBLE FACED GUARDRAIL	Construction Stockpile	pile	2	Mar 17, 2020	SYSTEM	\$4,695.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				5	May 4, 2020	SYSTEM	(\$4,695.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
			Stockpile - 1			21/2==	\$0.00	
		Overrun	Overrun		May 4, 2020	SYSTEM	(\$8,563.75)	
			Overrun - Total				(\$8,563.75)	
		Overrun - To	tal				(\$8,563.75)	
0340 -		0 : ::		0	M. 2=	OVOTTO	(\$8,563.75)	Demonstration to the Adjuster of the Control of the
0350	MGS BRIDGE APP. TRANS SEC (EXT CURB)	Construction Stockpile		3	Mar 17, 2020	SYSTEM	\$122,400.00	Payment Estimate Item Adjustment generated Stockpile Transaction
					Apr 1, 2020	SYSTEM	(\$33,660.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				5	Apr 16, 2020	SYSTEM	(\$44,370.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					May 4, 2020	SYSTEM	(\$19,890.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$24,480.00	
		Construction	Stockpile - 1	Γotal			\$24,480.00	
0350 -	Total						\$24,480.00	
0360	MGS END ANCHOR	Construction Stockpile		2	Mar 17, 2020	SYSTEM	\$17,892.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				3	Apr 1,	SYSTEM	(\$4,473.00)	Payment Estimate Item Adjustment generated Stockpile Transaction

Revision 4/1/2020 Page 8 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0360	MGS END ANCHOR	Construction			2020			
		Stockpile		4	Apr 16, 2020	SYSTEM	(\$4,473.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				5	May 4, 2020	SYSTEM	(\$2,982.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$5,964.00	
		Construction	Stockpile - 1	otal			\$5,964.00	
0360 - Total							\$5,964.00	
0370	TYPE A CRSHWTHY END TERMINAL (MASH)	Construction Stockpile		2	Mar 17, 2020	SYSTEM	\$124,394.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				3	Apr 1, 2020	SYSTEM	(\$34,891.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				4	Apr 16, 2020	SYSTEM	(\$36,408.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				5	May 4, 2020	SYSTEM	(\$21,238.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$31,857.00	
		Construction	Stockpile - 1	otal			\$31,857.00	
0370 -	Total						\$31,857.00	
Overa	II - Total						\$177,464.79	

Revision 4/1/2020 Page 9 of 9